) €M)

ooa

1072

Ratio

a(d o) (rad)

1.0

=

.........................................................................

ﬂ++¢¢,}+%§ﬁf+¢+m¢+iﬁ+++%+ﬁ+

a0 d ) (cm)

=

il

10 1 2 3

—=— DQM_original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—+— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

mline)

..........................................................................

[
T T T

TP ® (PCA to beamline)

o©p_/p)

e B e SRS Nt

olgﬁﬁﬁi ﬁﬁﬂ###ﬂiﬁﬂﬁ}*###

-2 -1

TP CD (PCA to beamllne)



	Contents
	Page 1


